[ Efficiency vs vertpos |

12 = B 2 5 2 I SRR L 2 2o B DL IEE R R R

0.90 : :
1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_TT__mkFit-DQM_original
Effici —e— /data2/legianni/standalone-May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_updated
ICIeNd _,__ DQM_TT__ mkFit-DQM_original_newwindows

~ 0.2
T
[ C . . . . .
20.16------ AR R i P
> . . . . .

2 E : : : : :
et S S A

(8] L . . . . .
O b T RS Tt Sl H S

o E : : : : :
O SRSiia || ISR M R SIS
0.08F--- """ """" """"
T e M

0.04F------ eeees 11 PR T S,

]

10

Ratio

1.

------------- bdd 4 S F 1 R SRR

1

-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
>
0.0.18
S
#0.16
20.14
3
£0.12
0.1
0.08
0.06)
0.04

0.02

...............................................

e

...............................................

effic

................................

|l_|_|_|_|_t|_|_|_|_|||||||||||||||||||||||||

1. - |- - R W S

1

L

10 15 20
Sim. PV z (cm)

=10



	Contents
	Page 1


